EARAROBEEIERT — 2 N— IBISH —F

2019568248 (B) 5EIKR2H

B 3mB2-# Y% 3m ‘ %] & ‘ [(BErE]  — | 4 (£) 14000 FE
[A&E4£] 17 :400,000 @ ~ 2% :104,000  ~ 3 3#&:56,000  ~ 43#&:40,000™ 5 3&:20,000 @
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N 3 | HER 1:27.5 9-9-6-3 |37.3| — 3 472 | RSN (KR)
1J7|7*Fr> 54.0 =) (o) | PIEEH
A= RILKRIIL BEACZAFHIL—T HBE77— L4
Ex 43 | WUAEES 1:27.8 3-3-2-1 [38.5| — 2 461 | /INEEEIE (2%R)
2|8|10| 7FT 1TV 54.0 (1172 e | S
L—5—297 B:vavrraLrb E3bier)
. N 5K : -1-1- - ZHEEZ (KR
sl1l1l7LeFesn i 3 ) 1.(248).4 1-1-1-1 [ 39.3 8 (4;0) B
Ry RRIN—4 B:yL—4—X0—F HEFHTT— LI
S P i 3 | EiEgE 1:28.8 2-2-3-4 [39.7| — 5 421 | HRERZ (BERE)
4l7l9| B7Y=T=Y 54.0 2 1/2) 3 | B AE=KT7-n
R:GFLTYKR BT T—II—X AE—KIT7—L4
7wy S i3 | WAk 1:29.3 7-7-7-6 [ 39.0| — 4 470 | fEBEE— (KiR)
5 3 f—=3a—-—%vy 2 56.0 (3) (-17) HLUBE
RHr—TT5ra B:IIHL2TI—X FHESS
R RO — :29. ~6-4- 8| - BllIR GKR)
6 slE/xTaq 4 3 e 1(229)6 5-6-4-5 | 39.8 1 3217) gmgﬁa
LT TURZ B:IS5 b NP1y va JI E454%
TN mlRE : ~10-9- — RINRE (KR
2 6 FadL—bAu> i 3 R 1.(360>.5 10-10-9-9 | 39.4 10 zzgf i
R:VZRBZ—IZR&— B:T7AILYF RN
. os = — BARREA 131, —8-8- . — ZHE® (KR)
slzlg|lvanys7 4 3 e 1(361)4 8-8-8-8 | 40.9 1 (4:0) SHEE 0o
LN v H—Ib B:T710—LFSC b RaiEse]
4 3 | BAIEBIEMR 1:31.8 6-5-5-7 | 42.0| — 6 454 | HEBFE (KR)
9|8[11| TH—FIAEY - 5.0 (@ 1/2) L | KEERT
LNy v =l B:TF7IXRAEY— BRRHUS
/¥ F # 3 | BEaXE 1:34.6 11-11-10-10| 41.8 | — 9 512 | RIIRE (KiR)
10[5| 5|37 L—/VNH3 56.0 (519 o) | KEERF
L:O—X¥x>J8L B:hIHTLTTT HREALS
. s INHRiE — - — — #HIEERI (AKR)
W . AP E R 3 (shik) - T | e
STANWNTTFH— BiLTa—4XT%4 b =R E%E
® I —F—@EBIERL
13—F— 1,9,10,2,4,11,3,8,7,6,5
20—F— 1,9,10,2,11,4,3,8,7,6,5
da=3r= 1,10,9,4,11,7,3,8,6,5
43—F— (1,10),7,9,4,3,11,8,6,5
[ N3
B OB 7 580M 714K 7-10 330M % E 6-8 1,090 3EHE 1-7-10 19,550M
8 B 7 200/ 1-7 4,940 B & 7-10 1,100 K31 7-10-1 89,230
10 1909 1-10 2,600/ B H 7-10 2,340
1 1,240

ABICOVWTRDTEEERROODE. TR LIV,




